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g Z &4 ah GROSS | HDCP NET fii %= NEAL IS A GROSS | HDCP NET i %
R B Sk 45 45 9.6| 35.4 41 {7 | Pt fil 44 44 4.8| 39.2
CERRE Y ok 43 43| 7.2] 358 42 fir | =@ %58 44 44 48] 30.2
3 Qs B=RR 41 41 4,8| 36.2 43 ff | T E#E 44 44 4.8| 39.2
i %k BB 46 46| 9.6 36.4 @d\ﬁﬁ g 44 44| 4.8 39.2
&5 =1 FEN 39 39 2.4| 36.6|BG 45 Do) KA e 49 49 9.6| 39.4
B i)l BE— 39 39 2.4 36.6[BG 46 1 | ML B 49 49 9.6] 39.4
TN AR —% 45 45 8.4 36.6 47 fL | A7 FE 48 48 8.4 39.6
&1L FEm PEE 44 44 7.2| 36.8 48 i | A #E 53 53| 13.2| 39.8
9 7| 1L @A 49 49| 12.0| 37.0 49 {7 | ke $ih 47 471 1.2] 39.8
JODL A 1L HEA 43 43| 6.0] 37.0 60 {i] bk 19 47 47 7.2] 39.8
B A B 43 43 6.0 37.0 51 {7 |- H F 47 47 7.2| 39.8
12 i | PR R 49 49| 12.0| 37.0 52 {if | Follfy i 46 46 6.0 40.0
13 i | AFHL =ZHR 43 43 6.0 37.0 53 i [T HE 52 52| 12.0| 40.0
14 fif |4 A Gl 48 48| 10.8| 37.2 54 fr |THH BiE 46 46 6.0 40.0
cr‘s’? ) 48 48| 10.8| 37.2 1= E— 44 44 3.6 40.4
1670 | KB St 41 41 3.6 37.4 56 i | @ HEd 49 49 8.4| 40.6
17 {if |$A A5 47 47 9.6 37.4 57 {if | Af® IEfE 49 49 8.4| 40.6
18 i |{fi7k &2 40 40 2.4 37.6 58 {iL | @ & 54 54| 13.2| 40.8
19 {7 | #1L %5 46 46 8.4| 37.6 59 {if | A& FHiF 54 54| 13.2| 40.8
e RS 40 40| 2.4] 376 @0 fin] Mgk —F 42 42|  1.2] 40.8
21 {ir | \I FHHE 45 45 7.2] 371.8 6177 | 1518 he— 50 50 8.4 41.6
% (LE B 51 51| 13.2| 37.8 62 QL |MTE el 50 50 8.4 41.6
m fE 45 45 7.2| 37.8 63 {L | FE & 50 50 8.4| 41.6
24 1 | WEE FE 15 45| 7.2| 318 64 fir | KTE FAZ 49 19]  7.2] 418
&5 1o BaE |k 44 44 6.0| 38.0 65 | KR W 60 60| 18.0| 42.0
26 fr | 8% 85 43 13 4.8 38.2 €06 1) KR e 48 18] 6.0] 420
27 ff | FoE it 43 43 4.8| 38.2 67 {if | Hiw P 59 59| 16.8| 42.2
28 {r | Ak B 55 55| 16.8| 138.2 68 (|11 Fui 47 47 3.6| 43.4
29 fir |HE Mk 43 43 4.8 38.2 69 v | B REE 52 52 8.4| 43.6
730 1 | B W 43 43 4.8| 38.2 BB ms EiE 51 51 7.2| 43.8
310 | B Wsfn 42 42 3.6| 38.4 TPNL ARM E 59 59| 14.4| 44.6
32 fir | —iF 48 48 9.6| 38.4 i
Y| iR FERE 48 48 9.6| 38.4
SAAT | /s REEL 47 47 8.4| 38.6
85 | Tl ¥t 41 41| 2.4] 38.6
3640 | Bk E= 46 46| 7.2] 38.8
37 i |FEL FE 46 46 7.2] 38.8
38 i | 1K BT 46 46 7.2] . 888
39 fir [ B— 45 45 6.0 39.0
€40 fr | T3 = 44 44| 4.8] 39.2
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NELT, BME 4 il GROSS | HDCP | NET %= JIEfE BINES il GROSS | HDCP NET fifi =
& Bk EXx 41 41| 8.4| 326 TETET 53 53] 15.6] 37.4
RS | R fuiE 45 45| 12.0| 33.0 42 fir |\ ¥ 53 53| 15.6| 37.4
3 P KA EIA 45 45| 10.8| 34.2 43 A |#m HE 46 46| 8.4| 37.6
(4 ho) R £l 50 50| 15.6| 34.4 34 D) 5K B 46 16 8.4| 37.6
Fos S 38 38 6| 34.4 Ol BT e 46 46| 8.4 37.6
76 QA ke 44 44 6| 34.4 46 fr|&n EA 46 46| 84| 376
~T b g 37 37 .4 34.6|BG 47 fir | iy H5E 46 46| 8.4 37.6
8 7 [{EM Eis 42 42 7.2 34.8 48 {ir | $El% & 45 45 7.2| 37.8
9 | PUE %= 52 52| 16.8| 35.2 49 {ir | /i) Foll 45 45 7.2| 37.8
(10 fin| & —ER 45 45 9.6| 35.4 BR #IE 51 51| 13.2] 37.8
LI &R {RER 44 44 8.4| 35.6 51 i\ | 1)1l s 44 44 6.0 38.0
127 |BHA F5 44 44 8.4| 356 52 fif | = & ##¥¥ 44 44 .0] 38.0
13 i A B 43 43 7.2] 35.8 53 if | WE 44 44 6.0 38.0
14 i |#7 F=Hk 43 43 7.2| 35.8 54 {ir | TiE 1£5 44 44 6.0 38.0
feR EiLE 48 48| 12.0] 36.0 £5 | A =4 56 56| 18.0] 38.0
16 L | iR MET 42 42| 60| 36.0 56 fir | K7 44 44| 6.0| 38.0
17 i | MR = 42 42 6.0 36.0 57 fif | #2)1] BEHE 49 49| 10.8| 38.2
18 fir | pily fii— 48 48| 12.0| 36.0 58 fiL | ‘280 BB 43 43 4.8 38.2
19 {if | BB FEfn 41 41 4.8| 36.2 59 {ii |[MH %ZIE 43 43 4.8| 38.2
20 1 | i 8B a7 47| 10.8] 36.2 G0 i) G i wk 49 19| 10.8] 38.2
2% | thm iz 47 47 10.8] 36.2 617 | B 7 19 19] 10.8] 38.2
K 1] 46 46 9.6| 36.4 62 fif | Iy —F= 55 55| 16.8| 38.2
' B B 46 46| 9.6| 36.4 63 fir [1LF RIS 48 48]  9.6] 38.4
24 i |44 St 58 58| 21.6| 36.4 64 {f | A = 53 53| 14.4| 38.6
250 | K 4T 15 45| 8.4] 36.6 G5 (p| R B— 58 58] 19.2] 388
2607 | #AP —if 45 45 8.4 36.6 RN B 50 50| 10.8| 39.2
27 fir | AR & 45 45 8.4| 36.6 67 {ir | M B 44 44 4.8] 39.2
28 {ir |H 34 39 39 2.4 36.6 68 i | &M KEZ 51 51| 10.8| 40.2
29 {7 | A L& 44 44 7.2| 36.8 69 {iz |JIlQ Fnd 56 56| 15.6| 40.4
B0 | (LA IR 44 44| 7.2] 3.8 6 B4 i 51 51] 9.6] 41.4
31Nz (&M W= 50 50| 13.2| 36.8 B M| EE 55 55| 13.2] 41.8
32 {if |8 =M 43 43 6.0 37.0
<0 T | & ER 48 48| 10.8| 37.2
34 [/hE T 48 48| 10.8| 37.2
€30 L | PR {53 48 48| 10.8| 37.2
36" fir |1l {5 B 48 48| 10.8| 37.2
37 fif |[IAf B 48 48| 10.8] 37.2
38 fir | Ak iEHE 47 47 9.6| 37.4
39 {7 [deR A 47 47 9.6 37.4
C40 {7 | kM Fak 47 47 9.6| 37.4




